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1. Find the Y — parameter Y, in the 1.

circuit shown below :

(D) -1/2

2. Find the Y — parameter Y, in the 2.

circuit shown below :

(A) 2
(B) 3/2
©) 1
®) '/

3. The parameters Y]], Y12, Y21, Y22 3.

are called :

(A) Open circuit impedance
parameters

(B) Short circuit admittance
parameters

(C) Inverse transmission
parameters

(D) Transmission parameters

(A) 2

(B) 312

(C) 1

D) '/

RAIERY 11, Yo, Yar, Yo B8 €
(A) 399 |idbe Uferare Rrex
(B) ¥IiE e yawr WRrfieR

(C) el HaRvT RHTeR

(D) R WRHeR
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4. Which of the following expression 4. o wfoe Wi @& AW A
is true in case of short circuit f=foRaa O § B9 9 IR |9y

parameters? 27
A L=YVi+YnV,

A L=YuVi+tYnLV,
B) L=YuL+YLV;

_ B) L=YuL+YnV,
(C) Vl - Yllll + Y12 VZ (C) Vl — Y11 Il + le Vz

D) Vi=YuVi+YpV, D) Vi=Yy Vi+YpnV,

5. In determining short circuit 5. oe wfdbe ufaaren wucst & fAuRo
impedance parameters, among Vi, qV,, Vo, 1, I, 9, fF=fefad § 9 o
V,, 1;, I, which of the following q 7 Tw &°
are dependent variables?
(A) Viand V,
(B) I;and I,
(C) Viand I,
(D) I and V,

6. In the circuit shown below, find 6. 9 fe@w U wfee H o

(A) Viand V,
(B) Iand I,

(C) Viand I,
(D) Liand V,

the transmission parameter C : W 9 9l
(A) 4/5 (A) 4/5
(B) 3/5 (B) 3/5
(€) 2/5 (C) 2/5
(D) 1/5 (D) 1/5
7. In the circuit shown below, find 7. Bk fow@mm U Afhe ff, Wﬁ?ﬁ
the transmission parameter A : IRdey U o
(A) 6/5 (A) 6/5
(B) 5/6 (B) 5/6
©) s © *a
(D) 4/3 (D) 4/3
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8. The number of tie set matrices
formed from a graph is :
(A) NN-1
(B) NN
(C) NN-2
(D) NN +1

0. The loop current direction of the
basic loop formed from the tree of
the graph is :

(A) Same as the direction of the
branch current

(B) Opposite to the direction of
the link current

(C) Same as the direction of the
link current

(D) Opposite to the direction of
the branch current

10. If A represents incidence matrix, I
represents branch current vectors,
then :

(A) Al=1
(B) AI=0
(C) Al=2
(D) AI=3

11.  Which of the following expression
is true in case of open circuit
parameters?

A Vi=ZyVi+Zplh

B Vi=Z, L +Z,,V,
© Vi=ZnL+Zph
D) Vo=ZL+Zp L

10.

11.

% W g9 dqd TR We Hew @l
T B

(A) TTUT — 1

(B) TIUT

(C) TWA- 2

(D) UG+

T% & US W 9 Yol o I U axc
e 2 -

(A) 3G ORI @ oo & |9

(B) fofd axc o o & fawia
(C) foid axc @ foen & JwH

(D) AT 9T &1 fam & fawia

A e dfgad &1 gfafAfda exar
g [ 9T e dde} ol Ufaffdca avd
g, ar:

(A) Al=1

(B) AI=0

(C) Al=2

(D) Al=3

MU Afbe WHex & FWcl A
ffaRad & ¥ oF 91 Ifafa g
g7

(A Vi=ZVi+Zp ],

B Vi=Z, L +Z,,V,

© Vi=ZnL+Zph

D) Vo=ZL+Zp 1,
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12. In determining open circuit 12. Vl,VZ,Il,IZEﬁ dra, ofye Afde wfcrame
impedance parameters, among Vj, tRex RUiRd o H, fy=forlRag & @
V,, 1;, I, which of the following P g v &°
are dependent variables? (A) ViV,
&) Vi, V2 (B) V., V,
1y
(B) Vla VZ (C) V I
1, 12
© V,L
(D) I, V,
D) L, V,
13.  Two ports containing sources in 13. 3! IMERN ¥ 1 atel &1 §SxTEl ol
their branches are called : T el ST &7
(A) Three port (A) e
(B) One port B) T s
(C) Passive ports
: (C) fAftpy uré
(D) Active ports
(D) fsha ure
14.  Two ports containing no sources in 14. 39 T U @ S IRt § b
their branches are called : Fid T8l €, dedd ©
(A) Active ports (A) Hha o
(B) Passive ports ®) ff o
(C) One port
(C) TH U
(D) Three port
(D) N Ure
15.  Loops which contain only one link 15. <[ fFH ®ad Te fofd BT &, &
are independent are called : PeEdd &
(A) Open loops (A) @3} G
(B) Closed loops :
(B) da U
(C) Basic loops
(©)
(D) None of the mentioned FLC{ _
(D) Sfeaflad # & T8 Tl
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16.  Number of twigs in a tree are? 16.  Udtree ¥ twigs bl F&T fobe &Gl
(Where, n-number of nodes) 8?7 (W&l n--ireq @l W)

(A) n (A) n
(B) n+l (B) n+l
(C) n-1 (C) n—1
(D) n-2 (D) n—2

17.  If no two branches of the graph  17. AT % &I Bg 41 3 AN b T
cross each other, then the graph is DI dredl T8l g A U6 Pl T Pal
called? ST 2
(A) Directed graph (A) AR 7T
(B) Undirected graph

(B) 3 T
(C) Planar graph
(D) Non-planar graph © e
(D) IR-TR I

18.  The number of branches incident 18. U & wre TR AMUfcd IRAmN & ARem
at the node of a graph is called : Pl 2
(A) Degree of the node (A) e @ =i
B) Order of the nod
(B) Order of the node (B) e BT FH
(C) Status of the node

(C) e @ Rafa
(D) Number of the node _
(D) e @I J&

19. A graph is said to be a directed 19. TH % B FERT I% dEl A 8
graph if _ of the graph has A TE D oo 4 foum B
direction. (A) 13T
A) 1 branch :

(A) (B) 2 T
(B) 2 branches _
(C) 3 AER
(C) 3 branches
(D) PRICTNICG|
(D) Every branch
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20. Find the value of voltage once
source transformation is applied to

the circuit ?

§ohm

(A) 10V
(B) 30V
(C) s0vV
(D) 70V
21. Calculate the total current in the

circuit :

(A) 2.3mA
(B) 4.3mA
(C) 3.3mA
(D) 1.3mA

22. A voltage source connected in
series with a resistor can be
converted to a :

(A) Current source in series with
a resistor

(B) Current source in parallel
with a resistor

(C) Voltage source in parallel
with a resistor

(D) Cannot be modified

20.

21.

22.

dfde # Ad gRadq o] 89 @ 418
qecs] BT A9 1T DIV ?

(A) 10 dl
(B) 30 dl
(C) 50 @t
(D) 70 dI

|ihe § g FRe B AU N -

SmA

(A) 2.3mA

(B) 4.3mA

(C) 3.3mA

(D) 1.3mA

gGAT H TP URREG b WA G

dleeol AId @1 uRafdd far S oada

2

(A) & URREN & | @ § grl
ard

(B) & URMl @& 9 MR |
RT AT

(C) & UREN @& |y Wi |
dlecs I

(D) SN & o 1
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23.  Magnetic field exists along which ~ 23. ffciRad ¥ ¥ foda a1 gaar &
of the following? AIgE 87
(A) Moving charges (A) HfdT =i
(B) Stationary charges (B) RerR MR
(C) Copper (C) oW
(D) Iron (D) et
24.  Materials having good retentivity ~ 24. 320l JRIEROT &Ml aTel UeTd 2
are : (A) o g9
(A) Strong magnets (B) FIAR W
(B) Weak magnets .
(C) IRl gaeb
C) Temporary magnets _
© porty mag (D) R gah
(D) Permanent magnets
25.  What is a permeable substance? 25. IR yerf @ E?
(A) Any good conductor (A) D3 ¥l 3BT ST
(B) Any bad conductor (B) P 0 T BT
(C) Any strong magnet :
(C) T N 7o G
(D) Any substance through which _
o (D) 3 4 et R gex geon
the magnetic lines of force _ _
: 9 XY AT H [oR T
can pass easily
26.  What is power factor of a series 26.  IAIQ @ Rufd & ded Udh %BQFIT
RLC circuit under resonance IRV e &1 vfdd dRe @7 2?2
condition? (A) 0
A) 0
(A) ®) 1
B) 1 .
(C) ¥ad
(C) Infinity
(D) 100
(D) 100
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27. Resonance frequency  occurs 27, ] 3Tlf|ﬁ[ GERS SRS CA—

when . (A) UUd = Q—CR:R:‘ﬁ
(A) XL = XC (B) W >QER:R$[
(B) X> Xc¢ ©) _ o

(C) X <Xc¢

(D) fiRa =t fom 1 e

(D) Cannot be determined

28.  What happens to the quality factor  28. WF[ GTI‘cﬁ[ d¢ W TGl dRE Dl

when resonant frequency 7 BIdT 2°
increases? (A) Tl 3
(A) Increases (B) wed S
(B) Decreases
_ (C) T TR
(C) Remains the same
(D) ¥ Bl W &

(D) Becomes zero

29.  What happens to the quality factor ~ 29. §g 38\?4‘ ded W TGl dRE DI 1

when the bandwidth increases? 2IdT 7
(A) Increases (A) Tl 3
(B) Decreases (B) .
(C) Remains the same
(C) el & 8
(D) Becomes zero
(D) ¥ Bl W @
30. If the resonant frequency in a  30. 3IT TP %j'EWIT IRYe  Wfde H
series RLC circuit is 50kHz along SR AART 1kHz @) defoey &

with a bandwidth of 1kHz, find the

Y 50kHz &, T O SRS Tlol ?
quality factor ?

o s (A) 5
®) 50 (B) 50
©) 100 (C) 100
D) 500 (D) 500
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31.  The flow of electrons which does ~ 31.  SeldgAl &I Yalg ol 48 A &I ToRdl
not pass through the battery is S & ®Y H A A & |
known as (A) fReTT gwT
(A) Displacement current (B) Sl e
B) Leakage current ]

EC; Eith : displ t (€) T T v o
ither isplacemen or
(D) 9 @ foRemE iR 9 & oo
leakage current _
(D) Neither displacement nor e
leakage current

32.  The flow of electrons in dielectric ~ 32. il B3N H Selagl $ YaTg
is due to & BRI BT & |
(A) Conduction (A) e
(B) Potential difference (B) R 3R
(C) Breakdown

: (€) e
(D) Resistance
(D) gt

33.  Leakage in capacitors is primarily ~ 33. $URex § Rurg = wu kil
caused by @ HRYT BT ¢ |
(A) Transistors (A) gifoeR
(B) Resistors B) TR e
(C) Inductors _

(C) STy
(D) DC motors
(D) SR wied

34. If the voltage increases, what 34.  Jfe g gedl g Wﬁﬂﬂﬁ rfa
happens to dielectric strength? BT T Bl &7
(A) Increases (A) el 2
(B) Decreases (B) g 3
C) Remains the same
(© (C) 98 edl &

(D) Becomes zero
(D) ¥ Bl W &
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35. The unit for dielectric strength
1s
(A) V/m®
(B) MV/m’
(C) MV/m
(D) Vm

36.  Who witnessed the effect of
magnetism for the first time?
(A) Hans Christian Orsted
(B) Alexander Graham Bell
(C) Michael Faraday
(D) Gustav Robert Kirchhoff
37.  What is the number of branches in
a circuit with three nodes and three
loops?
(A) 4
B) 5
(©) 6
(D) 7
38.  Who defined electric current and
devised a method to measure
current?
(A) Michael Faraday
(B) Andre-Marie Ampere
(C) Nikola Tesla
(D) Alessandro Antonio Volta

35.

36.

37.

38.

Widgyd afed FTAEE R
(A) V/m®

(B) MV/m’

(C) MV/m

(D) Vm

Aqdd B PG Ugell AR T <@r?
(A) 9 ¥ eifcs

(B) 3felduiex TEH 9

(C) Hgdhdl BIS

~N v

(D) %I T [hRain

M rew AR N o@ del e H
aIaraTt @ e foba Bl 82

(A) 4

B) 5

C) 6

D) 7

R o1 1 et aRwfe e aie
fIgga oxT @ A9 @ fa @
MfdspR fevar?

(A) HIghel BRIS

(B) 3me—A% viRR

(C) frenm <xar

(D) Tenigl GeifEl dieer
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39.  Which of the following is correct ~ 39.  IfAR,®T A R, ¥ 311 &, AT 3fel d
about the power consumed by R, ‘_flé R,3R R, ERT U &I T8 vfdd &
and R, connected in series if the a3 Prffad ¥ 9 o |1 g9
value of R, is greater than R,? (A) R, i Ao & @ug BT
(A) R; will consume more power
(B) R, will consume more power ®) R, 3D Ficl 1 o 7
(C) Ry and R, will consume the © ngﬁ_\l Ry WM fasfelt @1
same power LAl

(D) The relationship between the (D) @ud @ Ty T & dra Wl
power consumed cannot be wfid =8l fhar 91w €
established

40.  According to the fundamentals of  40. Solfdghd IONART & q Rrgil @
electrical engineering, which of IR, e W B9 Th Wl gidbe ¥
these is a correct representation of o aﬁl 71 ) vRifif ¥
peak value in an AC Circuit?

(A) RMS value/Peak factor (A) s W/w s
(B) STRTATH HeU*HiH Bacy

(B) RMS value*Form factor

(C) RMS value/Form factor (C) SIRTHTH Tt/ i TP

(D) RMS value*Peak factor (D) SRUHTH ﬂ@l*tﬂ?ﬁ B

41. In the sinusoidal response of R-C 41. IR Afde & AgTdIsSd Ufdfhar ¥,
circuit, the complementary IS & FHEN & TG I T
function of the solution ofi is : (A) i, = ce~t/RE
(A) i, = ce t/R¢ (B) i, = cet/rE
(B) i, = ce/R¢ (C) i, = ce Rt
©) i =ce™™ (D) i, = ceR‘t
(D) i, = ceRet
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42.  Which of the following elements  42. 39 & 9 BT IWNT PP Foldg o]
of electrical engineering cannot be SOl & fa=foRad 5 9 g d@
analyzed using Ohm’s law? &1 favoryor 1St fbar o ot 2?

(A) Capacitors (A) Stfyey
(B) Inductors :

B ESCTE?:‘
(C) Transistors ®) _
(D) Resistance © <

(D) gt

43. In the sinusoidal response of R-L- 43.  R-L-C URUY @ Arg4ssd Uldiham
C circuit, the complementary ¥ i@ fdaaT @ RD oY T
function of the solution of'11is : (A) i, = c,e®1+K2E 4 ¢ p(K1-K2)t

Cc
(A) i, = c,e®IFEDL 4 ¢ o(K1-K2)t (B) i, = c,e®1-KDt 4 ¢ o(KI-K2)t
Cc
B) i, = c,e®I7KDt 4 ¢ o(K1-K2)t (C) i, = c,e®I+KD 4 ¢ o(K2-K)E
(C) i, = cre®1HK2t 4 ¢ (K2-K1)E (D) i, = c,e®I+KDE | ¢ o(K2+KD)
(D) i, = Cle(K1+K2)t+ Cle(K2+K1)t

44. If the roots of an equation are real ~ 44. I fll I~ & el dR % 3R
and equal, then the response will WIeR 8l U S
be: (A) e sramfed
(A) Over damped (B) R
(B) Damped ©) i :

(C) Critically damped _
(D) Under damped (D) =

45. If the roots of an equation are  45. IS forell Tfipeor & q BIRE W
complex conjugate, then the < a1 ufafshar grf
response will be : (A) P sramhed
A) Over damped : :

) P (B) ifddh 3aHe
(B) Critically damped
(C) i
(C) Damped
D) =g JfgHfad
(D) Under damped (D) =&
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46.  If the roots of an equation are real ~ 46. IS bl THpRoT & el dR % 3R
and unequal, then the response will A 21 ar ufafshar 2rf?
be? (A) il araHe
(A) Critically damped B) = I
(B) Under damped

(C) <f® 3faHlad
(C) Over damped
(D) Damped (D)

47.  After how many time constants, 47. dad I ReRie @ 916, aftie Wi
the transient part reaches more 39 3Ifay T & 99 yfaerg ¥ 3ffed
than 99 percent of its final value? I tlfuﬁ[ ST &

(A) 2 (A) 2
(B) 3
(B) 3
©) 4
4
D) 5 (©)
D) 5

48.  The value of the time constant in  48. R-L URUY ¥ fud 95 &1 419 &7
the R-L circuit is? (A) Td /3R
(A) L/R (B) ¥R /T
B) R/L
(B) ©) IR
€ R

(D) Td
D) L

49. The steady state part in the 49. R-L IRUY ¥ oRT & @od H ReR
expression of current in the R-L JTIRAT T &7
circuit is? 14

) (A) Ee(R/L)t
(A) Ee(R/L)t V _—(R/L)t
(B) —e
(B) Ke—(R/L)t v
5 ©) =
©) = R
. D) 5
D) 5
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50.  Where does electro-static shielding 50. AR MaeR Wl A ﬁﬂgﬁ wifrs
occur in a charged spherical shell? URRT Fal BT 2?
(A) When electrical potential (A) 9 TR @ & T ﬁ?ﬂﬁ
outside spherical shell is zero
P AT I BN B
(B) When electrical potential .
(B) 4 AR WA & &% faggd
inside the spherical shell is
EHAT Y
Zero & e 2
(C) When electrical field outside (C) 9 TAPR el b TR &S
the spherical shell &
(D) Electrical field inside the (D) TR W & 3R [Id &3
spherical shell
51.  Choose the incorrect statement : 5. TTdd & ?ﬁ
(A) A branch formed by the (A) Bl o gftREd aR SIR - aue
parallel connection of any dhe & THAMIR HHdeE gRT
resistor R and open circuit T T W § el e @)
has the characteristic of an Re Bl 2
open circuit IS N
(B) A branch formed by the (B) _ SR
parallel connection of any dfde @ HH"“CB uq”‘*%'d ant
resistor R and a short circuit g% TS AR H T qide B
has the characteristic of a fareyar &l © |
short circuit (C) fdll ¥ URREN 3R &R T Gel
(C) A branch formed by the Hihe & HGeT Bae gRI 1S
series connection of any TS 3R cﬁ TP @ﬁ e @
resistor R and an open circuit RIoTTaT BT 2|
has the characteristic of an SN NI R
open circuit (D) _ SR
(D) A branch formed by the dfde @ }%g(’“ AR &Rl
series connection of any Tfed W #OHfoREl eR @l
resistor R and a short circuit fareraT el © |
has the characteristic of
resistor R
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52.  The superposition theorem  52. Wﬁl?ﬂ THI @ 8 @xH B Tl
requires as many circuits to be Ia9 & gfbe P Geghdal Bl @
solved as there are : R &

(A) Sources, Nodes and Meshes (A) a reg ik A
(B) Sources and Nodes L
B) W 3R Ared
(C) Sources ®) o ’
(D) Nodes ©
(D) red

53.  The number of independent 53. UG ©cdd P & PXA D oIV Wa
equations to solve a network is FHIPIUT P T IRI6N &
equal to : (A) Srarst @ s
(A) The number of chords (B) R e
B) The number of branches _ _ _
®) (C) @RI R ShawEl @ G @
(C) Sum of the number of a

branches and chords
(D) Sum of number of branches, (D) e 3, offer SR e @l W
chords and nodes a1 AT

54.  While calculating Rth in  54. Jdf*9 & Y9I 3R Hfc 99HE | Rth
Thevenin’s theorem and Norton P IO HId T
equivalent : (A) ) wWa 9l @ g9 T f
(A) All independent sources are T &

made dead _
(B) ®dd gRT Wl dH HI
(B) Only current sources are
made dead ¢
(C) Only voltage sources are (C) @3t dleesl Ul @l qd o fem
made dead ST &
(D) All voltage and current (D) ¥ g ool AR ORI Al & qd
sources are made dead g1 fear oar @
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55.  In Thevenin’s theorem, to find Z : 55.  Jd9 & UNY ¥ Z BT AT heeT
(A) All independent current (A) T WaT ORT g v |fde g
sources are short circuited 3R wWay Ay 9 Qgﬁ TR
and independent voltage s
sources are open circuited _
B) Wl Wdd dlecal W ol e
(B) All independent voltage ®) _ _ E‘iﬁ
o B 2 R W wdd uRT W
sources are open circuited
and all independent current oiic fde B &
sources are short circuited (C) w ¥acd drecs AR URT Wi
(C) All independent voltage and e wfde 2
current sources are short (D) O Wad dleew Wid wie dfde
circuited B € Rk Wl wdT un A
(D) All independent voltage E\ﬁ Rz a1 &
sources are short circuited
and all independent current
sources are open circuited
56. A delta circuit has each element of 56. Ud Secl URYY H UAS q9Yg @I
value R/2.  The equivalent AMR/2 BT 2| €. & 9 R dfhe
elements of star circuit with be : & e T -
(A) R (A) AR
(B) R/3
B) 3R
© 2R (B) 9R/3
(D) 3R (C) 23R
(D) 33X
57. A star circuit has element of 57. Udh TR afbe # ufeRiy &1 dcd R/2
resistance R/2. The equivalent 2 2 | qed Seel ad 20
delta elements will be : (A) IR/6
(A) R/6 (B) &R
®) R (C) 23R
(C) 2R O
(D) 4R (D) 43R
Series-C B.Sc. - B140101T/ 567 Page - 18



58. A linear resistor having 0 <R < 58. 0<R< Tl U Rgd URRES
isa: T 2
(A) Current controlled resistor (A) 9RT FRifya TG
(B) Voltage controlled resistor (B) Totel B T
(C) Both current controlled and © e N
voltage controlled resistor _ N
(D) None of the above
(D) SWIET 4§ g Tal
59. A closed path made by several 59. \ca® B Py IRIRN gRT g91¢ T §C
branches of the network is known U P & W9 H ST O dT &
as - (A)
(A) Branch
(B) <fu
(B) Loop
o (C) fdc
(C) Circuit _
(D) Junction (D)
60. Which of the following is a  60. =R ¥ ¥ B9 & AU da
bilateral element? 27?
(A) Constant current source (A) FrrT oy aa
(B) Constant voltage source ®) f NN
(C) Capacitance _
(C) Wenia
(D) None of the above
(D) SWIE ¥ ¥ B Tl
61.  Which of the following is the 61. fi=faRed # & o Ffiisa d@ &
passive element? (A) FERA
(A) Capacitance (B) aest a7 |
(B) Ideal current source ©) f e B
(C) Ideal voltage source
(D) SWIa I
(D) All of the above
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62. A terminal where three on more  62. Udh il gl dF 3R IR0 fAem
branches meet is known as : 2 b BT § Ml A ®
(A) Node (A) e
(B) Terminus (B) e -
(C) Combination ©) SN
(D) Anode
(D) TS
63. A passive network is one which  63. T® ffSsy “cdd a8 T o wfa &
contains :
(A) Only variable resistances (A) &9 TRadT yiRy
(B) Only some sources of e.m.f. (B) ST & B 7o A =8 A
n (© o o o & 39w @ W T
(C) Only two sources of e.m.f. in _
it i
(D) No source of e.m.f. in it (D) TS BT P W T 5 A
64. Between the branch voltages of a  64. <[ @ IRIT dleey] @ 49 foxas B
loop the Kirchhoff’s voltage law dlecsl BT AR BIl 2
imposes : (A) R-WRee qrET
(A) Non-linear constraints ®B) e
(B) Linear constraints
(C) ®Ig qrT Tl
(C) No constraints _ _
(D) None of the above D) ST H 9 T T
65. The superposition theorem is 65. Wﬁl‘?ﬂ T NIBN BT 2
applicable to : (A) BId decol
(A) Voltage only (B) 4RI et
(B) Current “Only” ©) um B S
C) Both current and voltage
ED; Current voltage and power () o Al SR e
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66.  Millman’s theorem yields : 66. T @ YWY Ui
(A) Equivalent resistance (A) THPRE UfoRIE
(B) Equivalent impedance (B) WH@e WRiawn
(C) Equivalent voltage source ©) .
D) Equivalent voltage or current
( (D) WH® dlecol AT URT AT
source
67. Application of Norton’s theorem  67. Hfcd Y3 &1 URUY e W NIBN BT
to a circuit yields: (A) G H GHRT ORI 9 3R
(A) Equivalent current source and ofam
impedance in series (B) S g .
(B) Equivalent current source and
gfcraren
impedance in parallel
. qHGET Yl
(C) Equivalent impedance © |
(D) Equivalent current source (D) HHEH HNT il
68. Which of the following is not a  68. fiHfifad & ¥ &9 e NI T
nonlinear element? e} 2°
(A) Gas diode (A) 9 T
(B) Heater coil (B) X Bige
(C) Tunnel diode :
C SRS
(D) Electric arc ©
(D) goifdg® @™
69. The superposition theorem is 69. QjCIQCi GHER| NIBN BT B
applicable to : (A) Rgop, RIRgF &R I B
(A) Linear, Non-linear and Time PRI
variant responses (B) P B AR RAR RN
(B) Linear and Non-linear _
_ (C) ®ad Rgd Hfcrfehard
resistors only 53 &
(C) Linear responses only (D) e
(D) None of the above
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70. A network which contains one or 70. U dcad forad ‘sfo THo Tho & U T
more than one source of e.m.f. is Th 9 3fe @d B 21 39 w9 A
known as : ST T &

(A) Linear network (A) g Yoqds
(B) Non-linear network

B) R—Rga wicad
(C) Passive network ®)
(D) Active network ©

(D) <fha dead

71.  An ideal voltage source has : 71. U A1EY dlecd! 91 H BIT B
(A) Zero internal resistance (A) I JaR® UfaRlY
(B) Open circuit voltage equal to (B) Tﬁ e R A T WR AT

the voltage on full load e dred
(C) Terminal voltage in _
_ (C) URT & MU ¥ ciHd dlecal
proportion to current NN 5
(D) Terminal voltage in (D) d
proportion to load

72. A non-linear network does not 72. Ud IR ~edd Hgbc T} PRaT B
satisfy : (A) WU I Rerf
(A) Superposition condition (B) U&wUdl @1 Rerfy
(B) Homogeneity condition (©) T e IR T
(C) Both homogeneity as well as . 2 Rerfy

superposition condition .
(D) Homogeneity, Superposition (D) Te®T, g I e
and Associative condition Rerfer

73.  The circuit has resistors, capacitors 73. wWfoe H ufREe, dURRR @R
and semi-conductor diodes. The JH—hedex SIS B1d ¢ | e & WY
circuit will be known as : ¥ ST ST
(A) Non-linear circuit (A) e S ofe
(B) Linear circuit

B) R&& Hfde
(C) Bilateral circuit ®) FE T
(D) None of the above © < _ _
(D) ST H 4 Bl Tal
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74.  In a series parallel circuit, any two ~ 74. T Sofl 9HEIGR URUY H, UH B R
resistances in the same current gRuyy H fosl < ufoRel @ § &F0
path must be in : IR ;

(A) Series with each other (A) T E&Rﬁ & W W

(B) Par?lllel \.?Vi'[h each other B) W T & TR

(C) Series with the voltage source _

(D) Parallel with the voltage © A T B el
source (D) qecol AId & FAFIR

75.  The circuit whose properties are 75. 98 "R e o qmr feemen #
same in either direction is known GH Bl e ¢
as: (A) USRI Flhe
(A) Unilateral circuit (B) aﬁt{ o e
(B) Bilateral circuit o e
(C) TIrreversible circuit ©
(D) Reversible circuit (D) Sect wioe

76.  If the energy is supplied from a  76. IS FHoll &l BHTCﬂ%‘r TH AId F B Sl
source, whose resistance 1s 1 ohm, 2 forger ufoR 1 3™ 2 o 100 a¥
to a load of 100 ohms the source & IR & fov 9T 2
will be : (A) T S
(g) ivoltagf source (B) T B

current source
EC; Both of above © SR <l
(D) None of the above (D) ST H § PIE Tl

77.  For maximum transfer of power, 77. 9fdd & 3ifSihdd sxdiaRyl & foly, G
internal resistance of the source HT ARD YfaRIE T 1RV ¢
should be : (A) R TR & W
(g) Equal 1:0 l(t)sd lresiistan.ci (B) ¥R TR S

ess than the load resistance
EC; Greater than the load © " mT H e _
resistance (D) SR § T 3¢ T
(D) None of the above
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78.  If resistance across Load is 30  78. I YR & IR—IR URRET 30 3N¥ &, A
ohms, then value of rest circuit R favm™ gRuy R &7 99 ¢
1S : (A) 10 T

A) 10

s
©) 0@

(C©) 30Q

(D) 40Q (b) 40

79.  Efficiency of power transfer when ~ 79.  Ifdd &7 SAfdead SWoRY 89 W Ifdd
maximum transfer of power is : SEITIROT P &HeT
(A) 100% (A) 100%

B) 809
®) o (B) 80%
(©) 75%

(©) 75%
(D) 50%

(D) 50%

80.  For high efficiency of transfer of  80. 9fdd B&IcRY & 9= <edl & forg,
power, internal resistance of the AT Bl 3RS YToRY FT 1RV
source should be : (A) TR TR & R
(A) Equal to the load resistance B) R NS —

(B) Less than the load resistance

(C) ¥R YRR & 1f®
(C) More than the load resistance

D) SWRIad H § B el
(D) None of the above D) 7

81.  Energy per unit charge is . 81.  Sul ufd ?Iﬁ_c' AT o gl
(A) Power (A) 1LY
(B) Voltage (B) Sl
(C) Current

(C) &N
(D) Capacitance _
(D) GRS
Series-C B.Sc. - B140101T/ 567 Page - 24



82.  Kirchhoff’s voltage law applies to 82. f<dl® @I dicel a9 dfbe W SIBN
circuits with : gdr g
(A) Nonlinear elements only (A) Seqer R o
B) Linear elements onl
®) Y (B) ®dd \Ra® T
(C) Linear, Non-linear, Active
(C) gd, RRgd, by &R
and Passive elements
(D) Linear, Non-linear, Active,
. . : (D) s, RRgw, wAfda, Ffkey,
Passive, Time varying as
well as  time-in-variant G- B @ A
elements I dcd Y
83.  Kirchhoff’s law is not applicable 83. fowe @ M dfde W SRS el
to circuits with : gdr g
(A) Lumped parameters (A) TEER Tepeoe
B) Passive elements
®) (B) fftpg aw
(C) Distributed parameters
() faaRa trefie
(D) Non-linear resistances
(D) RRa® wfeRer
84.  Kirchhoff’s law is applicable to : 84. fohdiw & 714 NIBN BT B
(A) Passive networks only (A) ad fSpT Jeam
(B) A.C. circuits only B) w S e
C) D.C. circuits onl
© Y (©) Bo Blo Baar ke
(D) Both A.C. as well D.C. _
(D) THl Yo o W & Slo Hio
circuits
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85.  “In any network containing more 85. ‘fell ol Jegd # W o THo Tho
than one sources of e.m.f. the & Uh 9 e did g | fedr f s
current in any branch is the H gRC g SIC—3TeT PIeq~dh Rl

lgebrai f b f : :
algeblalc sum ol a number o (1o o e s e A R N R |
individual fictitious currents (the _ _

_ el k=) BT GOFIOR AT B,
number being equal to number of R 5 o
sources of e.m.f.), each of which is ¢ T ¢ @
due to separate action of each S-S DR T DRV EXA &,
source of e.m.f, taken in order, P4 H forr OIr @ SUAVG @ WY A
when the remaining sources of HSdekl GART UfoRATUd fbam o &,
e.m.f. are replaced by conductors, 9 ufoRly 9&9d |9ial & saRe
the resistances of which are equal yfeRe} & aweR B ¥ |
to the internal resistances of the T e 9 TR L
respective sources”.

. . (A) R BT T
The above statement is associated y
. (B) T & W

with :
(A) Thevenin’s theorem ©) glli T
(B) Norton’s theorem (D) SWIR § 4§ PIg el
(C) Superposition theorem
(D) None of the above

86. A capacitor is generally a : 86. UG HETRA AT oo BT 2|

(A) Bilateral and active (A) Tfueha iR Afhg Teh
component ®) B, Bftm Wew ik o
(B) Active, passive, linear and
nonlinear component
. b . (C) @ 3R gfuelg gea
(C) Linear and bilateral
(D) IRR® 3R Ak Tca
component
(D) Non-linear and active
component
Series-C B.Sc. - B140101T/ 567 Page - 26



87. Which of the following is non- 87. fr=fafed § ¥ &9 R Wlde
linear circuit parameter ? W & °?
(A) Inductance (A) RIS
(B) Co.ndenser | (B) FETER
(C) Wire \.Nound resistor (©) T T RN
(D) Transistor _
(D) giforeeR
88.  “In any linear bilateral network, if  88. 'fdl ¥ s ?{f%FCI&ﬂ?I Teqd H, IS
a source of e.m.f. E in any branch S0 THo Tho fbdl W wrar & E ol
produces a current I in any other I IR ¥ pee | SO~ PRl B, e
branch, then same e.m.f. acting in & em.f W ol ¥ B Ee @
the second branch v&fould produce A e S ae
the same current/in the first _
branch” SRIGT AT | TR 2
The above statement is associated (A) gafrgsi w
with (B) GRS 77
(A) Compensation theorem (C) URREAT T
(B) Superposition theorem (D) SWRIFd H F By el
(C) Reciprocity theorem
(D) None of the above
89.  “Any number of current sources in ~ 89. "THMIGR N GRT Wl & fexi f ww=@m
parallel may be replaced by a B TP Udhd URT Gid gNT gfaeenfua
single current source whose a1 o1 9ear & e arT i
current is the algebraic sum of A9 gRe @ SRR 9§ ek
individual .source . currents and i SRR @l B TR e
source resistance is the parallel
combination of individual source R | _
resistances”. SIRIGT G ¥ FHET & -
The above statement is associated (A) AR BT gAY
with : (B) Aerd @1 Wl
(A) Thevenin’s theorem (C) 3IfrdaH Ifdd AR WY
(B) Millman’s theorem (D) IRIEd § q Blg T8l
(C) Maximum power transfer
theorem
(D) None of the above
Series-C B.Sc. - B140101T/ 567 Page - 27



90. “Maximum power output is 90. "3if¥/FaH faviel JdEH Uh Wlcdd o
obtained from a network when the Utd ed] & Sd ole YRy Tedd &
load resistance is equal to the SR YRR & SR BT & ol b
output resistance of the network as Se & el & Sw e &
seen from the terminals of the _
load”. The above statement is SRIAT Do A
associated with : (A) ATt 1 e
(A) Millman’s theorem (B) SRR BT 7
(B) Thevenin’s theorem ©) ﬁqqq' STE T
(C) Superposition theorem (D) 3@ Ifdd ExAiaRYT WY
(D) Maximum power transfer
theorem
91. To determine the polarity of the 9l. fo&dl UR® & SIR—IR dleeol S Bl
voltage drop across a resistor, it is gadr & XA D folU YT WA
necessary to know : HTHE 2
(A) Val.u:: of current through the (A) e D E T
resistor
(B) Direction of current through ®) SRR & e § e 9 fe
the resistor © IRIE 1 ke
(C) Value of resistor (D) %o THo Tho Wfdhe #
(D) e.m.fs. in the circuit
92.  For a voltage source : 92.  dieeol 9 @ forv
(A) Terminal voltage is always (A) e dleed BRI WM
lower than source e.m.f. $oTHoTPo | $F BT &
(B) E-el?in?; voltage cannfot be (B) <fiTe A W ST F
igher than source e.m.f. .
© Thge sourcee.m.f. and terminal B T &I W 2
voltage are equal © ¥ SoTHoTRo R efiiTel alec
(D) None of these TR &
(D) T ¥ PIE Tl
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93. An ideal voltage source should 93. UH ey diece AId § BT 1RV ¢
have : (A) SUIUG &I g T
(A) Large value of e.m.f. (B) STAUE BT Bl T
(B) Small value of e.m.f. ©) T N e
(C) Zero source resistance
(D) 3T W iR
(D) Infinite source resistance
94.  Thevenin resistance Rth is found : 94,  9qf TR RthURIT ST 2 :
(A) By removing voltage sources (A) deed WAl B SHD  ATARD
along with their internal yfeRet & Hy gerR
resistances B) fv T & <ffet @1 e
(B) By short-circuiting the given SN
two terminals _ _
(C) Between any two ‘Open’ (©) Tl il @ﬁ eféeretl @ 4
terminals (D) Ey & FAM ol <Al & 9
(D) Between same open terminals
as for Eg
95. The concept on which 95, O 3/uRUT W ARV THY 3MenRd
Superposition theorem is based is : HCEEE
(A) Reciprocity (A) IRERE
(B) Duality (B) Eﬁﬁ
C) Non-linearit
ED; Linearity ' ©) il
(D) XRaa
96.  Superposition theorem can be 96. IR THI Hac] 99 IR W SIRS
applied only to circuits having : foar S gaar & o -
(A) Resistive elements (A) R aag
(B) Passive elements B) s dw
C) Non-linear elements
ED; Linear bilateral elements © e T
(D) R 3fduela T
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97.  Kirchhoff’s voltage law is related  97. fdxa® dicesl 99 &7 Wee 9 2 :
to: (A) SR gRY
(A) Junction currents (B) 3o o o Tho
(B) Battery e.m.fs. o
(C) IR e
(C) IR drops _
(D) @ (B) 3R (C)
(D) Both (B) and (C)
98. Kirchhoff’s current law is 98. [Gd% @1 GRT PIT Ddel W
applicable to only : 2T
(A) Junction in a network (A) T e W S
B) Closed loops in a network .
(B) P B) T dead ¥ 42 7
(C) Electric circuits
(C) Felfdgs wfoe
(D) Electronic circuits
(D) elagid Hfdbe
99.  According to Kirchhoff’s voltage 99. fHwEd® & diees 99 & IR, il
law, the algebraic sum of all IR IR @ 3R em.fs. BT ARSI IR
drops and e.m.fs. in any closed et A e ex ¥ e 2
loop of a network is always : 5.
(A) Negative
(A) TPRIHD
(B) Positive
(B) PRI
(C) Determined by battery e.m.fs.
D) Zero (C) X o THo Tho gRT FeiRa
(D) I3
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100. Kirchhoff’s current law states that:

(A) Net current flow at the

(B)

©

(D)

junction is positive

Algebraic sum of the currents
meeting at the junction is
Zero

No current can leave the
junction  without  some
current entering it

Total sum of currents
meeting at the junction is

Z€ro

100. fhRaEis &1 9RT a9 Fear € o

(A) SRM R Yg YR Jd8 AORIHD
g

(B) WM W fIem dwell grwei @
o A = ?

(C) @R Wl axc V@M ¥ fam1 axc
& a9 by a1ex &I O Fehell ©

(D) S®M R e drel aR©i @
Gl AN T B

LR
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